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H H 4 Bl # & EAL & % i #
AT 26,193,200
- LEEffiks 23,812,000
- {HEBAHSEE (1.0%) 2,381,200
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THERAEE ( 2/ 3)

[F¥ | I
[IFs | REFB&KE (4) TF |
H OH 4 # & HAL & % fis =
1 Tk 23,812,000
2 - TEHE( 19,820,000
3 M TEE 14,392,000
4 - - HPETEE 12,616,000
5 - - - EHTHEE (ERTEFKR 1.000 2y 4,198,000
6 - - - EETER (RHET) 1.000 = 8,418,000
7 - - BEETEE 7,204,000
8 - - - SLEGRE 1,776,000
9 - - - - TEEIERE I HiRE 1.000 = 0
10 - - - - ERE~EERE
(4+9+22+23+28+31-33-34-35) X ((ARHEfE*4# IE flE+#81F I8 ) *4# IE fiE* 4 IE flE*4# 1E &)

12,051,000 x ((12.850*1.000+0.000)*1.000*1.050*1.000) 13.490 1,626,000
11 - - - - ERRE 1.000 = 129,000
12 - - - - TEHE 1.000 Y 0
13 - - - - TEH 1.000 X 0
14 - - - - RKBR 1.000 Y 0
15 - - - - BfPEEE 1.000 = 21,000
16 - - - - BEHE 1.000 By 0
17 - - - - BHRBEEER 0
18 + - - - - B REEE (FiE)

(4+22+29-30) X (124 H{B)
11,673,000 % (0.000) 0.000 0

9 -+ - - - HGREGES (FLE) 1.000 = 0
20 - - - BUBE R

(4+8+22+23+24+27-33-35) X ((AZHEE 4 1F {iE) *47 1F {548 1E fiE 4 1F {5+ %3 1F i + 48 1F {6 -4 1F {iB)

13,827,000 x ((36.690*1.000)*1.000*1.070*1.000+0.000+0.000-0.000) 39.260 % 5,428,000
21 - - - THBERSICH S BGHERSEO®R A 1.000 o 0
22 - - BEHE (EL) 1.000 Y 0
23 - - ESVEE (FEBRBIL) 1.000 e 0
24 - - ESE (ET - FERKIERL) 1.000 = 0

25 - —fEEEE

(4+7-33-35) x (BB AIE E+HRA B E)

19,255,000 X (20.660*1.000+0.04) 20.700 3,985,000
26 - —1EE ik 1.000 # 7,000
27 ZHEdh 0
28 XigdhE (BT - FEBEEIL) 0
29 Zfadm#E (ET) 0
30 My (EETEREON 943,000
31 W5y B (R B ONED 0

32 oy (AR RN I R B BN ED 0




THEREE ( 3/ 3)

[ | I
[THFa | KEFmsE (4) T |
B B 4 # & HAL & % fis =
33 MY B (RGN 565,000
34 33 (R ER e B EVERRAR 0
35 HAfii il & 0

(1-26) x {Z# (i

23,805,000 x4.400 4.400 % 1,047,000
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EEZA
[T#F4 | REsmsE (4) TF
4 R ) ¥ & HLAT Bl & % S
EEISZHE (REIZKR)
4,198,000
1.000 = 4,198,000
17N
1.000 =% 4,198,000
000001 #EHIT 1 KLy
1.000 = 3,159,480 3,150,480 | B® 1%
SA0101 SP #EHI HA - HA
8 A7 vhyb,-, HE L4 L ,5,000m3A 5, -, -, - 31.000 m3 308.1 9,551 | SH 265
SA0103 i iR HI HA - HA
T ENE L LEL Y 403.000 m3 223.2 89,950 | S¥ 27%
T00001 K ET. (& A> hR) HA - BA
Hik T S BEMNEIS 50ke,m3 403.000 m3 1,857 748,371 | TH 1%
SA0121 SP H-WhasiE ik HA - HA
e A ) h (L0, 8m3(TEAHO0 . 6m3) , TRV CASE- AR +&T), BV 403.000 m3 3,396 1,368,588 | SH 28%
,31.5kmEL T
S02123 7+ E HA - HA
403.000 m3 2,340 943,020 | sS# 5%
&t 3,159,480
000002 +HHBRT 1 KLY
1.000 % 823,360 823,360 | B 2%
SA0B11 SP 72 /ELFRL HA - HA
N )iy RIS FERE , A% 88 X 2mPA T, 14.0ton, 25,0009, -, Y 160.000 uf 5,146 823,360 | SH 325
i 823,360
000003 ®+T 1 KLy
1.000 = 17,360 17,360 | BE 3%
S01082 #+T. 2.5m=B HA - HA
EEHE - #5,0.8~1.1ton, 72 L 31.000 m3 560 17,360 | S¥ 15
i 17,360
000004 f# T (fRERAEMRIE) 1 KLY
1.000 = 197,445 197,445 | BE 4%
S08712 [# - Vi) HA - HA
2v))- 1A f B+ C-28, (IHB-C-2BS), 5% F 72\ 4 L 6.200 m 1,239 7,682 | sSE g
S08711  [h7-F v-vikiE] HA - A
av))-ViEIA , B A5 ShB-2B, 20mA i, — , B L, [ELRR S, B3I, 5 6.200 m 15,302 94,872 | SH 75
SA0878 SP MEHLEBIR T 1 v 7 HitE HA - HA
B, 2 L 6.200 m 1,260 7,812 | SH 34%
SA0876 SP BEEZR AT 1y HA - HA
FBH R E , & (600mmLL T 50kgAi) , A Y | L,-, 7 L, BEIIyvy 6.200 m 2,930 18,166 | SE 335
77 RC-40,
T00005 #y M =vAftE T (AfAk) A HA
H=2.0m FFIA 12.500 m 2,840 35,500 | TH 2%
TO0006 #y }7=/A3% & T (AfK) HA - HA
H=2.0m FFIA 12.500 m 2,673 33,413 | TH 3%
i 197,445
& & 4,197,645




TEBEHAMET v £ ( 2/ 5)

EEZA
[T#F4 | REsmsE (4) TF
G G D) ¥ & HLAT Bl & % S
EEISEE (R&EI)
8,418,000
- RE&T
1.000 = 8,418,000
{RERT
1.000 =% 8,418,000
000005 #EABERT (thN{RE%ERE) 1 KLy
1.000 = 3,171,216 3,171,216 | B# 58
SA0141 SP B&{R (5E42) Rt - R HA - HA
4.0mP -,10,000m3A 7, &L, H Y 1,051.000 m3 200.8 211,041 | S¥ 30%
SA0152 SP LT HA - HA
LAY L VYE L B RORE L KL, B Y 404.000 m 631.8 255,247 | S¥ 31%
S08042 W FI&H4E T. (Fkhs) HA - HA
BA4)79v47/,RC-40,10cm,2.5mP L B L, R 70 L, 2 L 376.000 ot 450 169,200 | SE¥ 65
J96001 A+ A HA
BAEL @WHL) 1,168.000 m3 500 584,000
SA0121 SP H-Rb4EIE il HA - HA
T Ny ) L0, 8m3(CEAH0. 6m3) , LRV CEBE- EAIRY L&), HY 1,168.000 m3 1,671 1,951,728 | SH 29%
,11.0kmAF
&t 3,171,216
000006 #EABRT ({REXAEMTIE) 1 KLY
1.000 =% 28,261 28,261 | BE 6%
SA0141 SP B&IK (5Ei2) B+ - HIRE HA - HA
4.0m2 k,10,000m3Ai#, & L, & 11.000 m3 200.8 2,209 | SH 305
J96001 fifE A+ A HA
BAELE WHEL) 12.000 m3 500 6,000
SA0121 SP Y& il HA - HA
TR,y 5y 50, 8m3(CF-Af0.6m3) , LRV CEBE- EAIRY £ET), A Y 12.000 m3 1,671 20,052 | SH 295
,11.0kmEAF
i 28,261
000007 MAHLAER R T 1 KLY
1.000 = 4,404,105 4,404,105 | BE 78
518055 MR T (R kv 7 ¥—FK) HA - HA
130kg, ® Y ,1.16m 209.000 n 4,379 915,211 | S¥ 175
$18055 ML R T. ({RARIEHS) HA - HA
140kg, % Y ,1.16m 298.000 ot 4,659 1,388,382 | s 18%
S18055 HifEHA BT ({aRE #E) A HA
200kg, Y ,1.16m 328.000 i 6,404 2,100,512 | SE 195
&t 4,404,105
000008 {REXHEMTIE T 1 KBy
1.000 =% 206,917 206,917 | BE 8%
S18075 fRAf - IRHAR A & - il 2 T L) A HA
BB 77V 258, R L 12.000 i 814 9,768 | S 245
S18075 (RAf - (AR AL i - it T (ELAR) HA - HA
i, 775v-v)v-7 ,25tF, 72 L 12.000 ni 416 4,992 | SE 255
$17003 78 T HA - HA
I, =7 ) — DGR 3n), 758 , 16 12.000 uf 4,038 48,456 | SH 115
S18074 {RAf - (AR - W T(LET) A HA
BB 77V 258, R L 0.810 | ton 13,035 10,558 | S 22%
$18074 {Rff - (HAGmRLE - W E T (LEI) A HA
2=, 775v-7)v—v, 25/, e L 0.810 | ton 6,733 5,454 | SH 235
S17002 [ HF(HEHH - LLIBEEIEA)] A HA
H 8 (L B8 F=4864) , 300%,, — , 750, 1] 0.810 ton 12,780 10,352 | sS# 9%
S18071 {RM& - ARG & - it = L(TH L) HA - BEA
E R B , BB, 777V VY, 25t @, 7 L 1.190 | ton 36,761 43,746 | SHE 205
S18071 KA - AT AL i - W E T (FH# L) A - HA
B ERRECED) s, 977V V=Y 258, 7 L 1.190 | ton 22,591 26,883 | SH 215
S17002 [&HRF(HEHH - LLEEEIE)] HA - HA
HIF S0 (1L B E3044) , 2505, — , 75, 1[E] 1.190 ton 12,780 15,208 | SE 105
S18054 H#EARAR [ - WE T HA - HEA
BB~ R ~1%,75,1,H 9 31.500 ot 1,000 31,500 | SH 155
&t 206,917
000009 7k# T 1 KLy
1.000 = 213,614 213,614 | BE 9%
S18005 HEKK v 7 ki - #iFE HA - HEA
Z51EH - RE 1.000 | fiAr 7,087 7,087 | SH 12%
S18005 HEKAR 7 G E - i A HA
EHHEE - ik 1.000 | T 8,671 8,671 | S¥ 13%
$18006 HEKA L 7iEEE (NARR) HA - HA
35, {ESEREAK, 0L E~6A0 , BBV R B, H Y 1.000 | fifr 197,856 197,856 | SE 145
& 213,614
000010 RBHFEE 1 KLy
1.000 = 393,855 393,855 | BE 108
S02115 ZZiEFEHE (5 B A HA
31.000 A 12,705 393,855 | SH 4%
Eis 393,855
& B 8,417,968




TEHEHAMET v /£ ( 3/ 5)

EEZA
[T#F4 | REsmsE (4) TF
4 R ) ¥ & HLAT Bl & % S
B
129,000
1.000 = 129,000
1.000 =% 129,000
000011 E# (SR - HEM) 1 KLy
1.000 = 66,004 66,004 | BE 115
P96003 {R A% & Fifid HA - HA
Hoih 4.490 | ton 1,500 6,735
P96001 (7% & #4 ik HA - HA
10.0kmEA T (B35 & ) 4.490 ton 4,350 19,532
P96006 R A% &A1 HLfH L HA - HA
B 4.490 |  ton 1,500 6,735
PO6005 i 3 & #FHIA HA - HA
Hi5 4.490 |  ton 1,500 6,735
P96002 A% E HATE ik HA - HA
10.0kmZA F(ELH5) 4.490 ton 4,350 19,532
P96004 i G H HLE L HA - HA
Hotth 4.490 |  ton 1,500 6,735
&t 66,004
000012 E#f (Bhgxix) 1 KLY
1.000 = 63,414 63,414 | BE 128
P96003 {IaX &1 filfid HA - HA
Hoih 5.420 | ton 1,500 8,130
P96001 i A% & #4 ik HA - HA
10.0kmLA T (Bid5 & T) 5.420 | ton 4,350 23,577
P96002 7% & #4 ik HA - HA
10.0kmEA F (B35 5) 5.420 | ton 4,350 23,577
P96004 {7 3% & A4 i) L HA - HA
Fth 5.420 ton 1,500 8,130
i 63,414
& & 129,418
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EEZA
| T=4 [ KEFhigE (4) TF
4 R ) B HLAT i & % S
BifiEEE
21,000
1.000 = 21,000
1.000 = 21,000
000013 1 Ky
1.000 = 20,800 20,800 | BE 135
P96008 - > —HlEHEFER HA - HA
2 Ak 2.000 Y 10,400 20,800
3 20,800

o
i

20,800
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EEZA
| T=4 [ KEFhigE (4) TF
4 R ) B HLAT i & % S
— {55 LAEHE
7,000
1.000 = 7,000
1.000 = 7,000
000014 1 Ky
1.000 = 7,100 7,100 | BB 148
P96007 /NAHi 2 v Ly HIFRER HA - HA
BB T R 5465 1.000 Y 7,100 7,100
3 7,100

o
i

7,100




